Chapter 10 Review Worksheet Name: V—-E\’

For the given configuration, determine how many different license plates are possible if (a)
digits and letters can be repeated, and (b) digits and letters cannot be repeated.

1.) 1 letter followed by 6 digits 2.) 2 digits followed by 3 letters
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Find the number o d|stmgunshable permutations of the letters in the word.
3.) SOUTH 4.) DELAWARE 5.) MISSISSIPPI

5\ ) W\
__:____—-—-——— Y “) Z )
TZO \>Qm\uﬁm(mﬂ =110, 080 geymut (munq =|34,650 prmutaiions

6.) A men’s department store sells 3 different suit jackets, 6 different shirts, 8 different ties, and
4 different pairs of pants. How many different suits consisting of a iackgl shirt, tie, and

I

pants are possible? 5&&1 - ‘ "Ib S\UT (0” U|ﬂaﬂon5
TS TY L 1

7.) You are placing 12 pictures on separate pages in an album.

a.) How many different ways can you order the 12 pictures in thealbum?

Q048153 or WY - [419,001,000 wiuy|

b.) How many different ways can 4 of the 12 pictures be placed on the first four pages?

12-0\-10-9 ok \2Vy -M§Q__\Eﬂ(uj§_l

Find the number of possible 5-card hands that contain the cards specified. The cards are
taken from a standard 52-card deck.

8.) 3 face cards and 2 tens 9.) 2 spades and 3 red cards
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Use the binomial theorem to write the binomial expansion.

\(‘bx)‘:i\;)(giﬁ)&x\“’(\g‘ " \o(%ﬂll\ﬁy 2 Y (%x]‘hj)}; \(g;\?"(g)"
a4 51Xy e v Xy RIS AN
[G0Tux "+ 048Xy + 3B4%y T 32Xy vy !

.) Fin¢/the coefficient of x in the expansion of (3x + 2)?.

) Find the coefficient of x” in the expansion of (x — 3)7.

16.) The student council consists of 6 seniors, 5 juniors, 4 sophomores, and 3 freshman.

a.) How many different committees of exactly 2 seniors and 2 juniors can be chosen?

Qa5 =|V50 ComMtees |

b.) How many different committees of at most 4 students can be chosen? \ DV
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17.) An ice cream vendor sells 15 flavors of ice cream. You want to sample at least 4 ofthe L)
flavors. How many different combinations of ice cream flavors can you sample?

ko
2,\ - k\scb ¥ \SQ\ + t‘o(n ) \‘DL'3 e
32,7T0% -\ 15 +\057 455) = |34)14L @Wsﬁﬁlﬂlﬂ
18.) A teacher is holding tryouts for the school play. There are 15 students trying out for 7

parts in the play. Egch stydept can play each part)n how many ways can the teacher
select the students® 00X 60 sp't mrr

You have an equally likely chance of choosing any integer from 1 through 30. Find the
probability of the given event.

19.) An even number is chosen 20.) A multiple of 5 is chosen ‘5.\0, \9, 10O, 15- 34
Bl oo
30 "]z B 9
21.) A factor of 60 is chosen 22.) A prime number is chosen 1,35, 1, \, \ 3,01, H, L3

\ 17,3.4,90,)0,12,19,2030 10 B 29
\ e
50 30 D)

You randomly select a marble from a bag. The bag contains 7 black, 14 red, 6 white, and 13
blue marbles. Find the indicated odds.

23.) In favor of choosing black 24.) In favor of choosing red or white
@ 2620 = |\ |
25.) Against choosing white 26.) Against choosing blue or white

34.0- 103 PARCY

27.) Out of 250 work days, a commuter arrived at work on time 47 times on Mondays. 43 times

on Tuesdays, 48 times on Wednesdays, 39 times on Thursdays, and 40 times on Fridays.
For a randomly selected work day, what is the probability that the commuter arrived at
work on time?

o 7\ 1/—*1
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P(A of B)= TIR) * TIBY- YA ond B) YN and B)= Y(AY - ViB)

PLAY= \- T (A YLBIA)
Find the indicated probability.
28.) P(A) =03 29.) P(A) = 35% 30.) P(A) =7
P(B) = 0.6 P(B) =7 P(A) =§
P(AorB) =7 rB) = 80%
PEA and)B) =0.1 igﬂ znf;)!?) —8%% Z'r; =) Y (A)
PINOUE)=0.3+010-0-1  $070= 35% +7(B)20% @;ﬂ

P(A0B)-0.3) |P(B)- 5 %)

31.) Aand B are independent. 32.) Aand B are dependent. 33.) Aand B are dependent.

P(A) = 0.15 P(A) = 60% P(A) =
P(B) = 0.6 P(B|A) =? P(B|A) = 0.4
P(AandB) =? P(Aand B) = 25% P(Aand B) = 0.36

Y(Aond B)-0.15°0. 25%3 0% PUBIA) 0.3y PIA) 0.4
[P1A and 8) = 0.09 | ﬁfx‘?\m-m.wml TPA)- 0.9)

Two six-sided dice are rolled. Find the probability of the given event.

34.) The sumiosgrealert 4. ol - Bl - Bk A - RSl - E] - |
= @\ DR /TR OF DR O
35.) The sumis 6 or 1.\ CE/OE e L D S
1 [o): el Rl el Nol et
3\ CRR (O O O CEE I8
36.) The sum is neither 5 nor 9. (B @ D8 88 B I8
N
37.) The sum is greater than 7 and less than 11.
W -\l
N

Find the probability of randomly selecting the given marbles from a bag of 5red, 8 green,
and 3 blue marbles if (a) you replace the first marble before drawing the second and (b) you

do not replace the first marble.

38.) red, then green 0) % . —\i\—o— = \% ‘ b} W o \5 D

——

.) blue, th d. 3, __\ \ i S
39.) blue, then re 0\\ W -\S\T _\%\; b} “0 \\\g\
3\

reen then green. ¢ 1L - | b
40.) green then g; (Q &-B b) T Lb\
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Let n be a randomly selected integer from 1 to 20. Find the indicated probability.

4l.)ni82/gi\£mm[jsi\fn 2,40, %,00,12, 14,10, 1%, 20

|

T0

42.)nisoddgi\vmth/\ali;i\s|primg 1,9, 5,7. W, 15, ”l'q
[

43.) nis 5 given that it is less than 8 \\7-\3&\\5“0‘-]
L

=
44.) You and 4 friends are in line at lunch and are each selecting a beverage. There are 5 types

of beverages available. What is the probability that all of you will seflgchd,iﬁemnl____,]

beverages? > "
5555 b o (s omet

45.) A parachuter is attempting to land within a square in the middle of a circular landing area.
The square has sides 25 feet long, and the diameter of the landing area is 40 feet. If the
parachuter is equally likely to first touch the ground at any point within the landing area,
what is the probability that the parachuter first touches ground within the square?

-25-25 w5
- gs T Toowm R 0.491
0‘- ’“\10)1 Y'i'l

400
46.) A high school has an enro‘?lmem of 1800 students. There are 1050 females enrolled in the

school. The high school has 1200 students who are involved in an after-school activity,
725 of whom are female. What is the probability that a randomly selected student at the

school is a female who is not involved in an after school activity? s
1050-125 = 315 FemileS WOT i ofws sthool aCVYY

55 x 01500 |
1300 0.
47.) A pet store has 18 light grecni parakeets (5 females and 13 males) and 25 sky blue

parakeets (15 females and 10 males). You randomly choose one of the parakeets. What
is the probability that it is a male or a sky blue parakeet? A )
P(Mor B)- ?L}V\\ iimﬂ -v(Mond )
- L 1 =R
Bei-l por 8|0
48.) A tennis player wins a match 55% of the time when she serves first and 47% of the time
when her opponent serves first. The player who serves first is determined by a coin toss
before the match. What is the probability that the player wins a given match?
Win YOdS: ’}{ . (Q'—D‘)\“ 0115 z ‘\“"-O“""E‘)\ v | b[ \
_ ’ . e I [
Lose 305y - (0.47)= 0205 I

—
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